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B.E./B.Tech. DEGREE EXAMINATIONS, NOVEMBER/DECEMBER 2009,
THIRD SEMESTER
CIVIL ENGINEERING

CE 1205 — SURVEYING I
(REGULATIONS 2007)
: . Maximum : 100 marks
Answer ALL questions.
PART A — (10 x 2 = 20 marks)
Distinguish between plane survéying and geodetic surveying.
Give the conventional signs for a traverse station and a cultivated land.
What is true meridian?
State thé a&vaptages of plane table surveying.
What is parallax in levelling?-
State the uses of contours. , ,
What do you mean by temporary adjustments of Theodahte Name them.

Lxst the errors which can be eliminated by taking both face left and face right
observations.

What is meant by degree of a curve?
Draw the sketch showing a circular curve and show its essential elements.
PART B — (5 x 16 = 80 marks)

(a) (i) Explain the construction and workmg of an optical square with neat
sketch. (8

(ii) Discuss the methods of over coming the obstacles which obstruct for
both ranging and chaining. (8)
Or <




[image: image2.jpg]12.

13.

(b)

(a)

(b)
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(b)

(i) What is meant by reciprocal ranging? Explain the method. (8)

(ii) Explain the method of erecting perpendicular to a chain line from a
point lying on chainage and also while the point is outside the
chainage. (8)

Given below are the bearings observed in a traverse survey conducted
with a prismatic compass at a place where local attraction was suspected.

Line Fore Bearing Back Bearing

AB 124° 30’ 304° 30’
BC 68° 15’ 246° 00’
CD . 310° 30 135" 15’
DA - 220018’ 17° 45’
At what stations do you suspect local attraction? Find thé correct
bearings and included angles. | (16)
Or

What is three point problem? Explain the method of solving it with neat
sketches. (16)

Following consecutive readings are taken with a level and a 4 metre

levelling staff on continuously sloping ground at a common interval of
30 m. :

0.585 on A, 0.936, 1.953, 2.846, 3.644, 3.938, 0.962, 1.035, 1.689, 2.534,
3.844, 0.956, 1.579, 3.016 on B.

" The elevation of A was 520.450. Make up a level book and apply the

usual checks. Determine the gradient of the line AB. (16)

Or

(i) Explain the method of estimating the storage capacity of a
reservoir. (8)

(i) A railway embankment is 10 m wide with side slopes 1.5 to 1.
" Assuming the ground to be level in a direction transverse to the

_ centre line, calculate volume contained in a length of 120 metres,
the centre heights at 20 m intervals being in meters 2.2, 3.7, 3.8,

4.0, 3.8, 2.8 and 2.5. (8)
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While making a reconnaisance survey through the woods a surveyor with
a hand compass, started from a point A and walked 1000 m in the
direction S 67° W and reached point B. Then he changed his direction and
walked 512 m in the direction N 10°E to reach point C. Then again he
changed his direction and walked 1504 m in the direction S 65°E and
reached a point D. Now, the surveyor wants to return to the starting
point. In which direction should he move and how much distance should

he walk? (16)
Or

(i) Discuss the checks normally carried out in an open traverse and a

closed traverse. ' : (10)

(ii) Write a detailed note on Gale’s traverse table. (6)

List the methods of setting out a simple circular curve. Explain the
Rankine’s method. (16)

Or

It is required to set out a curve of radius 100 m with pegs at
approximately 10 m centres. The deflection angle is 60°. Draw up the
data necessary for pegging out the curve by each of following methods.

(i) Offsets from long chord,
(i) Chord bisection and

(iii) Offsets from tangent. (16)





